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Tax rates for Trusts 2014-15
Tax Rates
	Lower Dividend rate/Savings Starting rate
	LDiv_rate
	10%

	Savings rate
	Lsave_rate
	20%

	Basic rate
	BR_Rate
	20%

	Dividend rate for trusts
	Hdiv_rate
	37.5%

	Rate Applicable to trusts (RAT)
	HR_rate
	45%

	Rates used to calculate Pension Payment Charges
	
	

	Unauthorised payments - not subject to surcharge rate
	Pen_Upayts
	40%

	Unauthorised payments - subject to surcharge rate
	Upayts_surcharge
	55%

	Short service refund charge - lower rate
	SSR_lower_rate
	20%

	Short service refund charge - higher rate 
	SSR_higher_rate
	50%

	Special lump sum death benefit charge rate
	SLSDB_rate
	55%


	Capital Gains Trust Rates bands
	
	

	Capital Gains Lower Rate
	Lower_rate_CGT
	18%

	Capital Gains Higher Rate 
	Higher_rate_CGT
	28%

	Capital Gains at Entrepreneurs Rate 
	ER_rate_CGT
	10%


	Short service refund  charge lower rate bandwidth 
	SSR_lower_band
	£20,000

	Divs Grossed up 
	100/90
	1.11111112

	Payments on Account Limit   
	£1000
	

	Standard Rate band
	£1000
	


Overview of tax calculation process

There are four different trust types, the calculation describes these as Personal Representatives, RAT-rate,  UUT and Other-trustee. Stage 1 of the calculation is used on all types. The calculation uses Question 8 from the Return to decide which stages to use thereafter dependant on the type, this can be either stage 2, 3 or 4 or 5. Stages 1, 6, 7 and 8 are generic and used in all four trust type calculations. Stage 3 (and sometimes stage 9) is used for RAT-type trusts only. Stage 2 is used only for personal representatives.

If Box 8.2 = Y then

    Set Trust-type = personal representatives

Else

        If Box 8.16 = Y then

            Set trust-type = RAT-rate

        Else

             If Box 8.4 = Y then  

                 Set trust-type = UUT 

               Else 

                   Set trust-type = Other-trustee 

               End if

        End if

End if

Calculate Stage 1

Case Trust -type

	Personal-representatives
	Calculate stage 2 

	RAT-rate
	Calculate stage 3 (sometimes stage 9)

	UUT
	Calculate stage 4

	Other-trustee
	Calculate stage 5


End case

Calculate stage 6
Calculate stage 7 (may also process stage 9)

Calculate stage 8
Changes 
V1 highlight yellow
Roll forward of year T7.32

Roll forward of year for T8.1, T8.2, T8.10, T8.14, T8.15

V2 highlight turquoise
Change to T1.1 

Change to T3.2
V3 highlight pink
Change to T1.1 

Stage 1 Collect and Sort income and deductions (all trust types)

for all trustees and personal representatives (T1 boxes).

If any box in this section is negative substitute zero (‘0’)

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.011 becomes 4)

Income
Q1: Trades, professions and vocations 

Complete a box T1.1a for all instances of Question 1

	T1.1a
	box 1.92
	£down
	

	T1.1b
	Total from all  T1.1a
	
	


	T1.1
	T1.1b  +  box 1L.91
	£down
	


Q2: Partnership

	T1.2
	Total of all instances box 2.22 
	£down
	


Q3: Land and Property

	T1.3
	boxes (all instances of ) 3.15 + 3.42 
	£down
	


Q4: Foreign Income

	T1.4
	boxes 4.1 + 4.4 + 4.5 +4.6
	£down
	

	T1.5
	box 4.2B + box ((4.2 minus 4.2B) x 100/(100 minus dividend rate))
	£down
	box 4.2B + box ((4.2 minus 4.2B) x 100/90)

	T1.6
	box 4.8
	£down
	


Q9: Other income  

	T1.7
	boxes 9.1 + 9.4 + 9.7 + 9.8 + 9.11 + 9.14 + 9.34 + box 9.38
	£down
	

	T1.8
	boxes 9.17 +  9.20 + 9.23 + 9.24 + 9.25 + 9.28 + 9.40
	£down
	

	T1.9
	box 9.31
	£down
	

	T1.10
	box 9.29 + (box 9.37A if greater than zero)
	£down
	


Total income

Total non savings and savings income

	T1.11
	T1.1 + T1.2 + T1.3 + T1.4 +  T1.7 + T1.10
	
	


Total dividend type (10%) Income

	T1.12
	T1.5 + T1.8 
	
	


Total gains on Life Policies (with tax treated as paid)

	T1.13
	T1.6 + T1.9
	
	


Deductions

Interest on loans etc

	T1.14
	box 10.1A + box 10.4A
	£up
	


Losses

	T1.15
	boxes 1.85 + 1L.85 + 2.15 + 2.24 +  3.43 + 4.30A + 4.37A + 9.36 + (9.37A only if negative, use absolute value 9.37A)
	£up
	


Taxable income

	T1.16
	T1.14 + T1.15
	
	

	T1.17
	T1.11 minus T1.16
	
	

	T1.18
	T1.16 minus T1.11
	
	

	T1.19
	T1.12 minus T1.18
	
	

	T1.20
	T1.18 minus T1.12
	
	

	T1.21
	T1.13 minus T1.20
	
	Copy to T6.24


Stage 2 Calculation for Personal Representatives

If any box in this stage is negative substitute zero (‘0’)

pdown-truncate to 2 decimal places (to leave pounds and pence)

£down – truncate pence to leave integer pounds

If trust-type = personal representatives then

Calculate taxable income

Income

	T2.1
	from T1.17
	
	

	T2.2
	from T1.19
	
	

	T2.3
	from T1.21
	
	


Calculate income tax due

IT due at 10%

	T2.4
	T2.2 @ Lower dividend rate 
	pdown
	T2.2 @10%


It due at 20%

	T2.5
	T2.1 + T2.3
	
	

	T2.6
	T2.5 @ basic rate
	pdown
	T2.5 @ 20%


Income tax due

	T2.7
	T2.4 + T2.6 
	
	copy to  T7.1


If personal representative of a deceased Lloyd’s Underwriter 

Question 1L is present then

Calculate tax credit on dividends from Lloyd’s

	T2.8
	box 1L.25
	£up
	

	T2.9
	lower of T2.1 and T2.8
	
	copy to  T6.4


Calculate tax credit on foreign dividends received through Lloyd’s

	T2.10
	box 1L.51 minus 1L.56
	£down
	

	T2.11
	T2.1 minus T2.9
	
	

	T2.12
	lower of T2.10 and T2.11
	
	


Calculate notional tax on dividends received through Lloyd’s

	T2.13
	box 1L.39
	£down
	

	T2.14
	T2.11 minus T2.12
	
	

	T2.15
	lower of T2.13 and T2.14
	
	copy to  T6.20


End if
Else 

Set T2.1 to T2.15 to zero

End if 

Stage 3 Calculation for RAT type trusts

 (trustees who are taxable at the rate applicable to trusts (RAT) and dividend trust rate)

If any box on this page is negative substitute zero (‘0’)

£down – truncate pence to leave integer pounds

£up – add .99 and truncate pence to leave integer pounds (e.g. 3.011 becomes 4)

pdown-truncate to 2 decimal places (to leave pounds and pence)

If trust-type = RAT-rate then 

Allocate deductions to income

Income

	T3.1
	T1.17 + T1.21
	
	

	T3.2
	from T1.19
	
	Copy to T6.2 to calculate the tax credits on dividends

	T3.3
	13.11 + 13.17
	
	

	T3.4
	13.7 + 13.13
	
	

	T3.5
	T3.1 minus T3.3
	
	items chargeable at trust rate 

	T3.6
	T3.2 minus T3.4
	
	


Calculation of Trust Management Expenses
    If Trust management expenses claimed (box 13.19 present) then

Total trust management expenses

	T3.7
	from box 13.19
	£up
	


Income not liable to UK income tax

	T3.8
	from Box 13.21
	£down
	


Total income

	T3.9
	T3.8 + T1.11 + T1.12 + T1.13
	
	


Expenses applicable to income not liable to UK income tax 

	T3.10
	If box 6.2 =Y then 

T3.10 = T3.7 x T3.8/T3.9

else 

T3.10 = zero (0)

end if
	£down
	


Expenses applicable to income not liable at the RAT rate
	T3.11
	from box 13.20
	£down
	


Trust management expenses allowable

	T3.12
	T3.7 minus (T3.10 + T3.11)
	
	


Notional max amount of net trust management expenses which could be allowed against income

	T3.13
	T3.6 x (100 minus dividend rate)/100
	£down
	T3.6 x 90/100

	T3.14
	T3.5 x (100 minus savings rate)/100
	£down
	T3.5 x 80/100

	T3.15
	Lower of T3.12 and T3.13
	
	

	T3.16
	T3.12 minus T3.15
	
	

	T3.17
	Lower of T3.14 and T3.16
	
	


Grossed up TME’s

	T3.18
	T3.15 x 100/(100 minus dividend rate)
	£up
	T3.15 x 100/90

	T3.19
	T3.17 x 100/(100 minus savings rate)
	£up
	T3.17 x 100/80


    else

        Set boxes T3.7 to T3.19 to zero (0)

    End if
Determine taxable income chargeable to RAT rates
Items chargeable at RAT rates

	T3.20
	T3.5 minus T3.19
	
	

	T3.21
	T3.6 minus T3.18
	
	


Trust Standard rate band

	T3.22
	From box 9A.1
	
	

	T3.23
	T3.22 minus T3.20
	
	


Taxable income chargeable to RAT rates

	T3.24
	T3.20 minus T3.22
	
	

	T3.25
	T3.21 minus T3.23
	
	


Taxable income chargeable to non- RAT rates

	T3.26
	T3.1 minus T3.24
	
	

	T3.27
	T3.2 minus T3.25
	
	


Income taxable at 45%
	T3.28
	T3.24 @ RAT rate
	pdown
	T3.24 @ 45%


Income taxable at37.5% 

	T3.29
	T3.25 @ dividend rate for trusts
	pdown
	T3.25 @ 37.5%


Income taxable at 20%

	T3.30
	T3.26 @ basic rate
	pdown
	T3.26 @ 20%


Income taxable at 10%

	T3.31
	T3.27 @ lower dividend rate
	pdown
	T3.27 @ 10%


IT due RAT and non-RAT rates 

	T3.32
	T3.28 + T3.29 + T3.30 + T3.31
	
	copy to T7.1


Else

 Set T3.1 to T3.32 to zero

Stage 4 Calculation for UUT 

If any box on this page is negative substitute zero

pdown –truncate to 2 decimal places (to leave pounds and pence)

£down – truncate pence to leave integer pounds

If trust-type = UUT 
Calculate taxable income

Taxable non-savings and savings income 

	T4.1
	from T1.17 + T1.21
	
	

	T4.2
	from T4.1 @ savings rate
	pdown
	T4.1 @ 20%


Taxable Dividend type income
	T4.3
	boxes 4.2 + 9.15 + 9.18 + 9.21 + 9.24 + 9.25 + 9.26 + 9.40  
	£down
	

	T4.4
	from T1.18
	
	


	T4.5
	 T4.3 minus T4.4
	
	


Standard Rate Band 

	T4.6
	from box 9A.1
	pdown
	


	T4.7
	lower of T4.5 and T4.6
	
	

	T4.8
	from 9.40
	pdown
	


Income Taxable at 10%
	T4.9
	Lower of T4.7 and T4.8
	
	

	T4.10
	T4.9 @ Lower Dividend rate 
	pdown
	T4.9 @ 10%


Income Tax Due

	T4.11
	T4.5 minus T4.9
	
	

	T4.12
	T4.11 @ savings rate  
	pdown
	T4.11 @ 20%


	T4.13 
	T4.2 + T4.10 + T4.12 
	
	Copy to T7.1 


Else

 Set T4.1 to T4.13 to zero

end if
Stage 5 Calculate tax paid and tax credits (Other Trust types)

(trustees who are not taxable at the RAT or dividend trust rate)

If any box on this page is negative substitute zero (‘0’)

pup –multiply by 100, add .99, truncate decimal, then divide by 100. (e.g. 3.011 becomes 3.02)

If trust-type = Other-trustee 

Taxable non-savings income

	T5.1
	T1.17 + T1.21
	
	

	T5.2
	Lower of box 3.22 and box 3.42
	
	

	T5.3
	4.6 + 4.8 + 9.31 + 9.38 + T1.10
	£down
	

	T5.4
	T5.2 +T5.3
	
	

	T5.5
	Lower of T5.1 and T5.4
	
	


Income taxable at 20%

	T5.6
	T5.1 minus T5.5 
	
	

	T5.7
	T5.6 @ savings rate
	pdown
	T5.6 @ 20%


Standard rate band

	T5.8
	From box 9A.1 
	
	


Deemed income in standard rate band

	T5.9
	Lower of T5.8 and T5.5
	
	

	T5.10
	T5.9 @ basic rate
	pdown
	T5.9 @ 20%

	T5.11
	T5.5 minus T5.9
	
	

	T5.12
	T5.11 @ RAT rate 
	pdown
	T5.11 @ 45%


Taxable dividend type income

	T5.13
	From T1.19
	
	copy to T6.2 

	T5.14
	From box 9.40
	pdown
	

	T5.15
	Lower of T5.13 and T5.14
	
	

	T5.16
	T5.13 minus T5.15
	
	

	T5.17
	T5.16 @ lower dividend rate
	pdown
	T5.16 @ 10%


	T5.18
	T5.8 minus T5.9
	
	


Income in standard rate band

	T5.19
	Lower of T5.14 and T5.18
	
	

	T5.20
	T5.19 @ lower dividend rate 
	pdown
	T5.19 @ 10%

	T5.21
	T5.15 minus T5.19
	
	

	T5.22
	T5.21 @ dividend rate for trusts
	pdown
	T5.21 @37.5%


Total tax due

	T5.23
	T5.7 + T5.10 + T5.12 +T5.17 +T5.20 + T5.22
	
	copy to T7.1


Else

Set T5.1 to T5.23 to zero

end if
Stage 6 Work out Tax Paid and Tax Credits (all trust types)

pdown –  truncate to two decimal places ( to leave pounds and pence)

If any box on this page is negative substitute zero (‘0’), except where specified.

Calculate non-payable tax credits
	T6.1
	9.17 + 9.20 + 9.40
	£down
	

	T6.2
	T2.2 + T3.2 + T5.13 
	
	

	T6.3 
	Lower of T6.1 and T6.2
	
	

	T6.4
	From T2.9
	
	

	T6.5 
	T6.3 + T6.4
	
	

	T6.6
	T6.5 @ lower dividend rate
	pdown
	T6.5 @ 10%
Copy to T7.9


	T6.7
	T6.1 minus T6.3
	
	


If T6.7= zero or 10.4A = zero, 
boxes T6.8 to T6.10 = zero
Else

	T6.8
	T6.7 @ lower dividend rate
	pdown
	T6.7 @ 10%

	T6.9 
	from 10.3A
	
	

	T6.10
	Lower of T6.8 and T6.9
	
	Copy to T7.10


End If

Tax credit on foreign dividends

	T6.11
	T1.5 minus box 4.2B
	£down
	

	T6.12
	T6.2 minus T6.3
	
	

	T6.13
	Lower of T6.11 and T6.12
	
	

	T6.14
	From T2.12
	
	

	T6.15
	T6.13 + T6.14
	
	

	T6.16
	T6.15 @ lower dividend rate
	pdown
	T6.15 @ 10%

Copy to T7.3


Notional tax on dividends
	T6.17
	Boxes 9.23 + 9.28
	£down
	

	T6.18
	T6.12 minus T6.13
	
	

	T6.19
	Lower of T6.17 and T6.18
	
	

	T6.20
	From T2.15
	
	

	T6.21
	T6.19 + T6.20
	
	

	T6.22
	T6.21 @ lower dividend rate
	pdown
	T6.21 @ 10%


Notional tax on life gains
	T6.23
	Boxes 4.8 + 9.31
	£down
	

	T6.24
	From T1.21
	
	

	T6.25
	Lower of T6.23 and T6.24
	
	

	T6.26
	T6.25 @ basic rate
	pdown
	T6.25 @ 20%

	T6.27
	T6.22 + T6.26
	
	Copy to T7.2


Add together tax paid
From Question 1

	T6.28
	Boxes 1.97 + 1.98
	
	


From Question 1L
	T6.29
	Boxes 1L.12 + 1L.53
	
	


From Question 3

	T6.30
	From box 3.21
	
	


From Question 4

	T6.31
	Boxes 4.1A + 4.2A + 4.3 + 4.10A
	
	


From Question 9
	T6.32
	Boxes 9.3 + 9.6 + 9.10 + 9.13 + 9.33
	
	


Total Tax Paid

	T6.33
	T6.28 + T6.29 + T6.30 + T6.31 + T6.32
	
	Copy to T7.21


7 Working out Income Tax and Capital Gains Tax due (all trust types)

If any box on this page is negative substitute zero (‘0’), except where specified.
Income Tax due

	T7.1
	T2.7 + T3.32 + T4.13 + T5.23
	
	


Notional tax

	T7.2
	from T6.27
	
	


Tax credit on foreign dividends

	T7.3
	From T6.16
	
	


Foreign Tax Credit Relief

	T7.4
	From box 4.9
	
	

	T7.5
	T7.2 + T7.3 +T7.4
	
	

	T7.6
	T7.1 minus T7.5
	
	


Patent Royalties and Recoverable tax on charges and annual payments made out of capital

	T7.7
	10.3A +  10.6A + 11.2
	
	

	T7.8
	T7.6 + T7.7
	
	


Tax credit attached to dividends

	T7.9
	From T6.6
	
	

	T7.10
	From T6.10
	
	

	T7.11
	T7.9 +T7.10
	
	

	T7.12
	T7.8 minus T7.11
	
	


Pension Payment charges

	T7.13
	From T23.22
	
	

	T7.14
	T7.12 + T7.13
	
	


Vulnerable beneficiary relief

	T7.15
	From box 10.1B
	
	


	T7.16
	T7.14 minus T7.15
	
	


Tax Pool adjustment 

	T7.17
	from T9.27
	
	

	T7.18
	T7.16 + T7.17
	
	


Employee benefit relief

	T7.19
	from box 10.1C
	
	


	T7.20
	T7.18 minus T7.19
	
	This box can be negative


	T7.21
	From T6.33
	
	


Income Tax Due

	T7.22
	T7.20 minus T7.21
	
	This box can be negative


Capital Gains Tax

Chargeable gains 

Other Gains

	T7.23
	From box 5.11
	£down
	


	T7.24
	T7.23 x Higher_rate_CGT
	pdown
	T7.23 x 28%


Gains that qualify for ER  

	T7.25
	from box 5.11A
	£down
	

	T7.26 
	T7.25 x ER_rate_CGT
	pdown
	T7.25 x 10%

	T7.27
	T7.26 + T7.24
	
	


Tax credit relief

	T7.28
	from box 4.10
	
	


Vulnerable beneficiary relief

	T7.29
	From box 5.6E
	
	

	T7.30
	T7.28 + T7.29
	
	


Capital Gains tax due 

	T7.31
	T7.27  minus T7.30
	
	


Income tax and Capital Gains tax due for 2014-15
	T7.32
	T7.22 + T7.31 
	
	This  box can be negative 


Stage 8 Working out Payments due by 31 January 2016
pdown – truncate to two decimal places (to leave pounds and pence)
If any box on this page is negative substitute zero (‘0’) except where specified.

Income Tax and Capital Gains due for 2014-15
	T8.1
	from T7.32
	
	This box can be negative


2014-15 tax already refunded 

	T8.2
	from box 21.6
	
	


Any adjustment increasing the tax due, calculated by reference to earlier years

	T8.3
	from box 17.2
	
	


Total Tax due

	T8.4
	T8.1 + T8.2 + T8.3
	
	This box can be negative


	T8.5
	from box 17.4
	
	


	T8.6
	from box 17.9
	
	


	T8.7
	Payments already made (from your statement of account)
	
	


	T8.8
	T8.5 + T8.6 + T8.7
	
	


	T8.9
	T8.4 minus T8.8 
	
	This box can be negative


Calculating Payments on account for 2015-16
If T7.22 < £1000 set boxes T8.10 to T8.14 to zero
Else
Income Tax due for 2014/15  
	T8.10
	from T7.22
	
	This box can be negative


Tax deducted at source

	T8.11
	T7.2 + T7.3 + T7.11 + T7.21 + T7.19 
	
	

	T8.12
	T8.10 + T8.11
	
	

	T8.13
	T8.12 @ basic rate
	pdown
	T8.12 @ 20%


Payment on account due for 2015-16
	T8.14
	If T8.10 < T8.13 then T8.14 = 0

else 

T8.14 = T8.10 @ 50%

end if
	pdown
	


End if
Payment due by 31 January 2016
	T8.15
	T8.9 + T8.14
	
	This box can be negative


Stage 9 Calculation of Tax Pool for RAT type Trusts.
pdown – truncate to two decimal places ( to leave pounds and pence)
If any box on this page is negative substitute zero (‘0’)
If 8.12 = ‘Y’ and box 13A.1 is null 

     Or trust-type is not RAT-rate

     Or box 6.2 =Y then   

Set boxes T9.1 to T9.27 to zero
Else

If trust-type = RAT-rate and box 6.2 = N then

Amount of tax pool brought forward
	T9.1
	box 14.15
	
	


Amount of tax pool applicable to income that is not settler interested

	T9.2
	from  box 13A.1
	
	

	T9.3
	T9.1 + T9.2
	
	


If 8.12 = Y   
Set boxes T9.4 to T9.18 = zero

Else

Trust rate tax charged on dividend income type

	T9.4
	From T3.29
	
	


Non-savings income etc. in standard rate band

	T9.5
	T3.20 minus T3.24
	
	

	T9.6
	T9.5 @ basic rate
	pdown
	T9.5 @ 20%


Tax charged on income and deemed income at the rate applicable to trusts (RAT) 

	T9.7
	from T3.28
	
	

	T9.8
	T9.1 + T9.4 + T9.6 + T9.7
	
	


Non repayable tax on dividend type income

	T9.9
	T6.6 + T6.10 + T6.16 + T6.22
	
	


Tax charged on dividend type income not charged at trust dividend rate

	T9.10
	from T3.31
	
	

	T9.11
	T9.9 minus T9.10
	
	


Non-repayable tax on deemed income

	T9.12
	From T6.26
	
	

	T9.13
	lower of T3.22 and T6.25
	
	

	T9.14
	T9.13 @  savings rate 
	pdown
	T9.13 @ 20%

	T9.15
	T9.12 minus T9.14
	
	


Foreign tax credit relief

	T9.16
	from box 4.9A
	
	


Total deduction of non repayable tax etc.

	T9.17
	T9.11 + T9.15 + T9.16
	
	

	T9.18
	T9.8 minus T9.17
	
	


End If

Pool available

	T9.19
	If box 8.12 = Y  
higher of T9.1 and T9.3 

else

higher of T9.1 and T9.18

end if
	
	


Vulnerable beneficiary relief

	T9.20
	box 10.1B
	
	


Employee benefit relief

	T9.21
	box 10.1C
	
	


	T9.22
	T9.20 + T9.21
	
	


	T9.23
	T9.19 minus T9.22
	
	


Tax on payments to beneficiaries

	T9.24
	box 14.2 + box14.4 + box14.6 + box14.8 + box14.10 + box14.12 + box14.14 
	
	(boxes 14.2 to 14.14 even numbers only)


	T9.25
	T9.24 x Rate Applicable to trusts (RAT) divided by (100 minus Rate Applicable to trusts (RAT))
	
	T9.24 multiplied by x 45/55


Tax pool to carry forward to next year

	T9.26
	T9.23 minus T9.25
	
	If negative amount enter zero




Additional tax due

	T9.27
	T9.25 minus T9.23
	
	copy to T7.17
(if negative enter zero)


Else

Set T9.27 to zero
End If

End If

Stage 10 Calculate Pension Payment Charges.

If any box on this page is negative substitute zero (‘0’)

pdown-truncate to 2 decimal places (to leave pounds and pence)

£down – truncate pence to leave integer pounds

If trust-type = personal representative and boxes 23.1 to 23.6 >0 

  Unauthorised payments

‘Not subject to Surcharge’ amount

	
	T23.1
	from box 23.1
	£down
	

	
	T23.2
	T23.1 @ Unauthorised payments - not subject to surcharge rate
	pdown
	T23.1 @ 40%


‘Subject to Surcharge’ amount

	
	T23.3
	from box 23.2
	£down
	

	
	T23.4
	T23.3 @ Unauthorised payments - subject to surcharge rate
	pdown
	T23.3 @ 55%


Calculate unauthorised payment charge and surcharge

	
	T23.5
	T23.2 + T23.4
	
	

	
	T23.6
	from box 23.3
	
	

	
	T23.7
	lower of T23.5 and T23.6
	
	

	
	T23.8
	T23.5 minus T23.7
	
	


(Overseas) short service refund charge

Taxable short service refund of contributions from an overseas pension scheme

	
	T23.9
	from box 23.4
	£down
	

	
	T23.10
	Short service refund charge lower rate bandwidth
	
	£20,000

	
	T23.11
	lower of T23.9 and T23.10
	
	

	
	T23.12
	T23.11 @ Short service refund charge - lower rate
	pdown
	T23.11 @ 20%

	
	T23.13
	T23.9 minus T23.11
	
	

	
	T23.14
	T23.13 @ Short service refund charge - higher rate
	pdown
	T23.13 @ 50%

	
	T23.15
	T23.12 + T23.14
	
	


(Overseas) special tax charges due 
 Taxable lump sum death benefit payment from an overseas pension scheme

	
	T23.16
	from box 23.5
	£down
	

	
	T23.17
	T23.16 @ Special lump sum death benefit charge rate
	pdown
	T23.16 @ 55%


Deduct foreign tax from overseas charges

	
	T23.18
	T23.15 + T23.17 
	
	

	
	T23.19 
	from box 23.6
	
	

	
	T23.20
	lower of T23.18 and T23.19
	
	


Special lump sum death benefit charge due 

	
	T23.21
	T23.18 minus T23.20
	
	


Total pensions savings charges

	
	T23.22
	T23.8 + T23.21
	
	copy to T7.13


    else


set box T23.22 to zero 
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